Test Booklet Code & Serial No.
YT SIS o HHE B
Paper-II1I

LIBRARY AND INFORMATION SCIENCE

Signature and Name of Invigilator

1. (Signature) .....cccoeeeeervrenienrieereereeeeeeen.

APR - 18317

Time Allowed : 2% Hours]

OMR Sheet No.

Seat No.

(In figures as in Admit Card)

SEALINO. e

(In words)

(To be filled by the Candidate)
[Maximum Marks : 150

Number of Pages in this Booklet : 48

Number of Questions in this Booklet : 75

© o

10.
11.
12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry fwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(it) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Library and Information Science
Paper III

TAqTAT ST ATRATITE
gyatrent 111

Time Allowed : 2% Hours]
Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carries Two (2) marks. Attempt All questions.

Rd. Wd YA gred.

AT ¢ A YR THY UeEal (75) SgTdAE URA oA, Woud WAl & (2) 0

Assertion (A) :

DDC is the only classification which
has survived for 140 years and is
regularly updated.

Reason (R) :
It has strong institutional support.
Codes :

(A) (A) is true and (R) is false
(B) (A) is false and (R) is true
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true

Which is the correct logical sequence
of the following ?

(A) Information, Knowledge,
Wisdom, Data
(B) Wisdom, Knowledge,

Information, Data

(C) Data, Information, Knowledge,
Wisdom

(D) Information, Data, Knowledge,
Wisdom

fagam™@ A) :

140 aSIiCHHj_'I ERIEGENISERIET
SO 9 @es e Ufeeren é@‘g{ﬁ
. & THHAT AR TGl TR
%ot (R)

3R,

—

(A) (A) SRR 3T 3T (R) § I 3T
(B) (A) I 3§ M0 (R) S 3718
(C) T (A) o7for (R) 9 3T

(D) = (A) o1 (R) SR TR

AT SeHTEl dHh-Y§ WISl
HIUTA ?

(A) #ifedt, 5, foaen, S
(B) forereh, M, Hifedt, €1
(C) 2, Hifedt, I, foreeh
(D) wfedt, a1, 9, foow
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A research that collects consensus

opinions of Panel of experts and the

judgment is known as :
(A) Survey

(B) Delphi

(C) Case study

(D) Historical

......................... used first phrase

“Reference Department”.
(A) S. R. Ranganathan
(B) Samuel S. Green
(C) Melvil Dewey

(D) Samuel Rothstein

Which is the unique feature of
Delphi ?

(A) Internal and external

evaluation of sources
(B) Observation
(C) Panel of experts

(D) Law of single variable
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Statement (A) :

The society in which information is
considered to be more important
than the materials that provide
information is information society.
Statement (B) :

The society in which at least half
of its members are enagaged in
knowledge occupation and such
occupations are not only based on
knowledge but also are knowledge

generators.

Codes :

(A) (A) is false, but (B) is true

(B) (A) is true, but (B) is false

(C) Both (A) and (B) are true

(D) Both (A) and (B) are false

6.
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(A) (A) I 318, g (B) ¥ SR 3T
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(C) S (A) 3Tfor (B) sIeR 3T1ed

(D) T (A) Tfor (B) 9 eq
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Chemical Abstracts is an abstracting

periodical started in .................. .
(A) 1907
(B) 1807
(C) 1908

(D) 1910

Which of the following is not a
knowledge management tool ?

(A) Brainstorming
(B) Mind mapping
(C) Story telling
(D) PERT/CPM

Who have suggested theories of

reference service ?

(z) S. R. Ranganathan
(z1) James Wyre

(z11) Samuel Rothstein
(lv) William Katz

Select the correct answer using the

codes given below :
Codes :

(A) (i) and (1)

(B) (i1) and (i)
(C) (i) and (iv)
D) (@) and (v)
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(A) 1907

(B) 1807

(C) 1908

(D) 1910
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(A) (@) =for (i)

(B) (i) =0T (iii)
(C) (i) =7 (iv)
D) (@) fo (jv)




10. Which is the correct sequence of

elements in bibliographical entry for

an article according to ‘author-date’

pattern in APA style ?

(A) Title of the article, author, year,

title of journal

(B) Author, year, title of the article,

title of the journal

(C) Author, year, title of the

journal, title of the article

(D) Author, title of the article, title

of the journal, year

APR - 18317/111—B

10. TH.T el gReshdlal oiesh-a YeHTaR

R g ShidT Y=1a Feahl i T

I ?

(A) oRAT ISR, oiEeh, oY, fFaqentferenTa

NIEED

(B) oRgeh, I, i@ St fadentferente)

NIEED

(C) orE, o, FradeTerR v,

[ECIEINIEED

(D) e, @ Y, faqetasr

NIECCE]
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11. Match the following and select the

correct answer from the codes given

below :

List I
(@) Jotspot
(b) MySpace
(¢) Odeo
(d) Flickrmap

List II
() Mashup
(i) Wiki
(i211) Social Networking Sites
(iv) Podcosting
Codes :

@ B © @
A @) @  Gv) @)
B) @) @ @ (o)
©) @) @) G @

D) @ G Gv) G
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11. SiedT Seodt ST0T Wedt fEetean FehdihT

A Haer

It 1
(@) SR
(b) WEEE
(c) onfest
(d) AT

Trer 11
i) w9
Gi) faent
(i7i) FRIA FeTR T HZH
(iv) TTSHRTEM
Hehdich :

(@ b)) © @@
A) @) @ Gv) @)
B) @ @) @ ()
©) G Gi) G O

D) @) @) @) @)




12.

13.

National Literacy  Mission

emphasized education for women
and also establishment of rural

libraries was adopted in :

(@) 1986

(1) 1988

Codes :

(A) (@) is false, (i7) is true

(B) (1) is false, (1) is true

(C) Both () and (ii) are true

(D) Both () and (i7) are false

ASLIB is associated with ............... .

(A) Special Libraries

(B) School Libraries

(C) College Libraries

(D) Public Libraries

12.

13.
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(1) 1986

(z1) 1988

Tehdih

(A) () I 3R, (i) T TR AR
(B) (i) I% AE, (i) T TR AR
(C) JET (i) 37O (ii) S&X e

(D) ST (@) T (i) Ik 3T

~ ﬁa ..................... -Q-ﬁ- Hﬁf'ﬂﬁ 31"%‘
(A) ¥ Taed
(B) IMe™ TeIerd
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14.

15.

16.

Presently who owns the copyright of

UDC ?
(A) UDC consortium
(B) Paul Otlet
(C) OCLC
(D)

Henri La Fountaine

open ended questionnaire

IS coveeerreee e .
(A) Research method
(B) Measurement technique
(C) Tool for data collection
(D) Sampling technique

Identify the odd pair from the

following :

(A) Citation and plagiarism
(B) D-space and digital library
(C) Dublin core and metadata

(D) Thesaurus and book selection

14.

15.

16.
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[ g. €. H. o AICTh! TR hIUThS

e ?
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17. Assertion (A) :

Provision of services outside the
library regular service centre or
outlet is essential to reach more and

more patrons.

Reason (R) :

Library extension services help
libraries to cover larger population

of patron.

Select the correct answer from the

codes given below :

(A) (A) is true and (R) is false

(B) (A) is false and (R) is true

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true

APR - 18317/111—B

17. fagm A) :

ST S G9rEeiTd dreravare

TN Y= FgH=A Fall hg fohan

SMHTAAT deX Fell Y0 ATavdh

3TTR.

Ut (R) ¢

e foraR JaTgR ULreardiel STt

ST SUYRRAAT STaYd i 3d.

Teld Fehdiehiqd sReX W erer .

(A) (A) SRR 31 707 (R) ® I 3T

(B) (A) I 3R 301 (R) & SeR 38

(C) T (A) anfor (R) 9 TR

(D) Tl (A) 2Tfir (R) s 31
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18. Match the following and select the

correct answer from the codes given

below :
List I
(@) Translation Service

(b) Information Repackaging

Service
(¢) Document Delivery Service
(d) Library Networking

List II
(z) BLDSC
(1) DELNET
() ITC
(v) TAC
Codes :

@ B © @
A @ @

@v) ()

B) Gv) @) @ @

© @ @ Gu) Gv)

D) Gu) G@v) @ @)
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oo N

18. Sied Seoall ST Wet Sered HehdiehTT

T qatg feer
RIC N |

(@) 3TaR 9a
(b) wfedt gAfe e

(c) U@ YSH Hel
(d) T e
Tt 11
@ . Ta €L ug 9
(i) CAR
(i) &=, 2. H.
Gv) . T E.
Hehdieh :
(@ b)) @ @@
A @) @

@v) @)

B) Gv) @) @ @)

© @ @ @) (o)

D) Gu) Gv) @ @)
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19. Among the different Boolean | 19. fafay gferem sitmcd Yept ‘AT’ Seml

Operators “NOT” is used ............... . RS S ?
(A) To exclude the terms from the . ,\
(A) MY H TBUVIHIS]
search
(B) ¥yl famar g
(B) To broaden the search
(C) To narrow the search (C) ¥ IS T
(D) To end the search (D) MY FUIUATHS!

20. Arrange the following Acts in order | 90 wErefl feciean wE== FTAFHATIR T,
of their enactment with the help of = T RdeT GRdiRT= SR .
the following codes given below :

(@) UTEIA 6 g/ 3T
(a) Registration of Books Act

(b) T Sfeeell % g 3R
(b) The Delivery of Books Act

(¢c) T HIANES HH
(¢) The Copyright Act
(d) Right to Information Act (d) T g TN 3T
Codes : Hehdlich :
(A) (@) (b) (c) (d) (A) (@) (b) (c) d)
B) @ (o b)) @@ B) @ (© b @@
© @ © @ @ © ® © @ @

13 [P.T.O.



21.

22.

Z0otero 1S a ..eeeevevnvenennnnn. .

(A) Library management software

(B) System software

(C) Digital library management

software

(D) Reference management

software

Every week a library sends scanned

content pages of latest journals

to all its users. This service is

called .....ccuueeen.... .

(A) CAS

(B) SDI

(C) Reference

(D) Referral

22.

APR - 18317/111—B

(A) TATAT HIEATTT TR JOTeAt

(B) dgdl ST

(C) fefSea Tuc™ =awamga ToTeh

HOTTeAT

(D) He e A

TEMIT TATAATT YA SSTSATA]

ST FAqRICTohI=A ST Tha

F&d Hd IS qrefaedn. 39 o™

®E WU ?
(A) 9. T T\
(B) TH. . M.
(C) IHTH

D) I
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23. The term X and Y axes are not | 93 i(am‘qq;] ShIOTT G X 3101 Y 3787
applicable to .................. . AN A AR ?
(A) Bar chart (A) T
(B) Pie chart (B) Idedrahd STeiE
(C) Line graph (C) 0Tl AT
(D) Frequency polygon (D) SRarar gy
24. Which is the country that | o4 O ST S T I 39T
developed the concept of quality S 2
management ?
(A) 9d
(A) India
(B) 9.T4.TH.3TR.
(B) USSR
(C) FTHT,
(C) USA
(D) Japan D)
15 [P.T.O.



25.

26.

National Knowledge Network is to

be implemented by :

(A) National Knowledge Commission

(B) Information and Library

Network

(C) National Informatic Centre

(D) Department of Information

Technology

Wilfred Pareto proposed a quality

pattern, which is known as :

(A) 50/50 percent

(B) 70/30 percent

(C) 60/40 percent

(D) 80/20 percent

25.

26.
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AT ATAS T RV STHATD

AU ?

93 o

(A) TIFA TS HIUYH

(B) #ifedt =7for Uamed es

(C) IHa STRRHCH FX

(D) wfedt = faum

o N

faeThe U2l AT TUIaRT=T STeiid ShioTd]

T geaa e ?
(A) 50/50 TFh
(B) 70/30 ZFh
(C) 60/40 TFh

(D) 80/20 TFh
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27. Match the following and select the

correct answer from the codes given

below :
List I
(@) C. A. Cutter
(b) Anthony Panizzi
(¢c) S. R. Ranganathan
(d) Semuer Lubetzky
List II
(z) ALA Code
(@) CCC
(z12) British Museum
(zv) Rules for Dictionary Catalogue
Codes :

@ b ©© @

(A) @) Gu) @) @)
B) G@v) @) @ @
€ @& G @) @)
D @ @ v @)

APR - 18317/111—B

(a)

27. Siredl o S0 Wett foeiedn FHehdlehiT

I g feer
EIC |

(@ . T &KX

(b) 3ol ufeft

(c) TH SIR. THIEA

(d) FR gt
T 11

() T TA T HE

() & =Y. 9t

Gii) Tt =gfaem

(iv) 8 ®R feRmd Hdm

Hehdich :

(@ b)) © @

(A) @u) @) G) @)
B) @) @) @) @
C) & Gu @@ G)
M G @ Gv) G
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28. Assertion (A) : 28. faam™ (A) :
Special library serves to a specialist Ty T favY ST S 2.
clientele.
%RUT (R)
Reason (R) :
o TeTerdia Terewe STl gaied
The collection of special library is
3.

relatively narrow in scope.

Tt Hebdiehlgqd siier 3w feren .
Select the correct answer from the

- -
-
-

codes given below :

Codes : (A) Tt (A) 3Tfr (R) sRIsR 3T1g 3Tfur

(R) ¥ IR TSR0 378
(A) Both (A) and (R) are true and

(R) is the correct explanation (B) T (A) 37fU (R) SRR R W

(B) Both (A) and (R) are true (R) & SR TSy e

but (R) is not the correct (C) (A) TeR 3R W (R) ® 9%

explanation R

(C) (A) is true but (R) is false D) (A) TF T T (R) T W

(D) (A) is false but (R) is true e

18
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29. Principle of Literary Warrant deals | 29. oo dftes dca gaﬁaﬁaﬁwﬁ Tfed
Wlth ................... . 3“%. 7
(A) Forms of literature
(A) Hfgd TR
(B) Inclusion of subjects in a
(B) fow=rmen efiertor ggdidial HHIEeT
classification scheme
(C) drefr| aie
(C) Police warrant
. (D) e Tt
(D) Leadership styles
30. Which of the following is not a type 30. Eellefdehl  ShIUTAr AT TSI
of planning ? T ?
(A) Strategic (A) i
(B) Long Range (B) A S
(C) Short Range (C) = &
(D) Performance Appraisal (D) WREH ST
19 [P.T.O.



31.

32.

A service that directs a reader

towards the probable source of

information is known as ................. .
(A) Reference service

(B) Reader’s advisory service

(C) Reprographic service

(D) Referral service

Assertion (A) :

Libraries are facing a threat and are

bound to disappear soon.
Reason (R) :

Due to the introduction of web 2.0
components no users are turning

towards libraries.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

31.

32.
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TEehTell HIfed = T Harehs fes
a')_{u.n_aﬁa.l. ................ _q.l.q.la.ﬁ aﬂm
.

(A) FRHEET

(B) o= G R 9al
(C) wfaferdt an
(D) ITHTA Far

fagm A) :

Toes T e AT i e
&R (R) :

oS 2.0 b ATTeh ATTARS Fo3d TRId.
Tehdieh :

(A) 3= (A) T (R) R 3T_a
(B) =1 (A) afor (R) I oTRd
(C) (A) TR 3T, W (R) © I

(D) (A) TH 3T, TG (R) T IR 378
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33.

34.

The Dublin core metadata elements
related mainly to the instantiation

of the resources are :

(A) Date, Format, Identifier,

Language

(B) Date, Format, Identifier, Right

(C) Date, Format, Identifier,
Publisher

(D) Date, Format, Identifier,
Creator

Who is the pioneer of scientific

management theory ?

(A) Maslow

(B) Taylor

(C) Fayol

(D) McGregor

33.

34.
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T Il SREMRINYH  aiarid

@cteldeh! % Ad 2

(A) ferh, e, afums, e

(B) ferien, w@ey, sifimmoes, sifaer

(C) feamm, wwy, IfYads, Thwes

(D) feaisr, W&y, Afyemaes, i

TSI e fagiare S
3red.

(A) &

(B) <R

(C) watd

(D) HHUIR

21
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35. Match the following and select the

correct answer from the codes given

below :
List I
(@) Nominal data
(b) Ordinal data
(¢) Interval data
(d) Ratio data
List II

(z) Level of satisfaction regarding

library facilities

(z1) Frequency of use of internet by

different user groups

(ziz) Ranking of library services by

users
(v) Gender details of library users

Codes :

@ b ©© @

A) @) @) @) @
B) G G @ (o)
©) & Guw @) G
D) Gv) Gu)y @ G
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35. Siedl ol S0 |ett e Hehdlehiqd

I g freer
et 1
(@) MR B
(b) HHEERA BT
(¢) @ €
(d) TR S
Jret 11
() TUTeTd raifoe= TR e

(i) Tafay Sy M= e

SATOLT STRaT]
(i) Susecar=a fafayg et Sae
T Tarel HHIR =T

(jv) TITT SUYETT fomfasaes queid

(@ b)) ©© @

(A) @) @) Gv) @)
B) ) @ @ ()
© @ @) Gv) @)
D) @) @) O @
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36. Match the following information

seeking models with corresponding
theories and select the correct

answer from the codes given below :
List I

(@) Wilson Model

(6) Dervin Model

(¢) Kulthau Model

(d) Marionini Model
List II

(1) Tailored to electronic

environment process consisting

of subprocesses

(z1) Association of feelings, thoughts,
actions

(zit) Sense making approach

(iv) Three-fold view on information

seeking context, system and

information sources
Codes :
(@ b)) (© @@

A) Gv) @) @) @)
B) Gi) @) @ (o)
©) @ @) Gv) @)
D) @) Gv) @) @
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~ .

36. WICcTdeh! SRER Hehdish TEA Hifed!

Y FE= AT AgHe Sie
NIEN

et 1

(@) foomm Atea

(b) ST LA

(c) HAUS: HiSdA

(d) HqHfH Afea
et 11

(i) <AE T SoERMh TIRREHe UeE
FUEN 3h FaHI

(i) STEIfgTEd ew frdlS, effeq,
HARTH

(i) T=| AfwT =

(iv) Hhlee =Y AM THavE fafaT

R, faiy 3f~s spHyH 9Eg
Hehdieh :
(@ b)) @ @@
A) Gv) @) G @)
B) Gi) @ @ (o)
©) G Gi) Gv) Gi)
D) G) Gv) G G
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37.

38.

Uniterm indexing was developed

BY coeeeieeeeees .

(A) S. R. Ranganathan
(B) Mortimer Taube
(C) G. Bhattacharya
(D) Derek Austin

Which of the following statements
are true in reference of “Ask Me”

service ?
(z) It is an email reference service
(z1) It covers all subjects

(111) It is free service

(tv) It is fee based service

Codes :

(A) @), (1), (lv) are correct

(B) (1), (ii1), (iv) are correct

(C) ), (z11), (iv) are correct

(D) @), (1), (i11i) are correct

37.

38.

APR - 18317/111—B

Ffed frdve il fosmfaq & 2
(A) TH. 3R. THIEA

(B) wIEwT 2fe

(C) sft. wgrmE

(D) & A=A

‘oTees ' T HeHia gelarush hivrd
foeM sReX 3g 7 O Teia Gehalgar
feter -

() & SHA weHEer TR

Gi) 9 §d fosErn wEE g
(i) B Fe1 HrRd ST

(iv) & eHERa qa1 TR
Hehdieh :

(A) (i), (i), (iv) T 3T

B) (i), (i), (iv) T 3T
(©) (), (i), (iv) SR TR

D) @), (i), (iii) ST 3R
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39. Assertion (A) :

University libraries in India are not

fully automated.

Reason (R) :

Priority is been given only on

the development of OPAC and

automating circulation section.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

APR - 18317/111—B

39. fagam™ (A) :

IRArdia faerdic voed qul Sioied

.

Ut (R) ¢

Adewm=n fawg =qfor ga-va favrm

GIUTh R L0TATE S 91em= feaa

R,

K3 K3
-
.

(A) T8 (A) aTfor (R) sRIeR 3T’

(B) 3 (A) amfor (R) 9% o8

(C) (A) SR TR, W (R) T TH T

(D) (A) I 377, T (R) & SRR T8
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40. Which of the following problems in

41.

communication process are identified

in Shannon-Weaver model ?

Answer the question with the codes

given below :
(a) Technical
(b) Semantic
(c) Effective
(d) Interpretive

Codes

(A) (a), (b), (c) are correct
(B) (a), (¢), (d) are correct
(C) (a), (b), (d) are correct
D) (b), (c), (d) are correct

The knowledge to which we have
valid, conscious and introspective

access under all circumstances is

called :

(A) Tacit knowledge

(B) Explicit knowledge
(C) Predictive knowledge

(D) Semi-tacit knowledge

APR - 18317/111—B

40. TMA-ToeR AISATIR TS Wishaid Shiore

41.

AL 3TMed 2 Weliel HehdiehT=al 3R

T I ST ¢

(@) <R

(b) LR

(c) TR
CARECALCICS

Hehdieh :

(A) (a), (b), (c) = e
(B) (@), (c), (d) SRR e
(©) (a), (b), (d) SRR 3R
D) (B), (c), (d) SR e

M, S 90 e fedia I, A

-~

9 aqea e,

Y HId A

B[ ?

(A) Zdie I\

(B) THwIEE A
(C) Ufexlw IH

(D) §H-Jde I
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42. Match the following and select the

correct answer from the codes given

below :
List I
(a) Staffing
(b) Planning
(¢) Organizing
(d) Controlling
List II
(1) Resource management
(2z) Promotion
(t17) Audit
(iv) Delegation of authority
Codes :

@ B ©© @

@A @ O (v @)
B) @& @ @) @)
©) @ @ @ Gv)

D) G@v) Gu) @) @

APR - 18317/111—B

[N SN

42, Sirea Sesa S0 Wrelt feeiedn Heharehid

99 g faer .
RIC |

(@) FHUAR AT
(b) TieH
(c) Hefed
(d) T

Trer 11
(i) THYA FEEerT
(i) TRI=
(iif) i@ ey
(iv) SRR TR
Hehdieh :

(@ b)) ©© @

A @ @ (G @)
B & @ G (o)
C) @) @ @) (o)

D) G@v) @) @) @)
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43. Identify the correct order in which

the committee/commission were set
up :
(1) Mudaliar

Commission on

Secondary Education

(i1) Kothari Commission on

Education

(ziz) Roy Committee on State

Universities Review

(zv) Radhakrishnan Commission on

Education
Codes :
A @ @) @) G0
B) () @ @ @)
C) Gu) @) Gv) @
D) @) @) @ (o)

APR - 18317/111—B

43, Wil gier o AT e TRIOAyHToy

e ShH ATl

(i) HeAR HeAfHe et S

(i) eI T M

(i) W U9 faamdie gderor afidr

(fv) TR feeor A=

Hehdich :

A @ Gv) @G @)
B) () @O @ @)
(C) @) @) Gv) @)
D) @) @) @ @)
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44.

45.

Which of the following devices take

data sent from one network device

and forward it to the destination
node based on MAC address ?

(A) Hub

(B) Switch

(C) Gateway
(D) Modem

Govt. of India appointed the
Education Commission in the year
1964, under the chairmanship of
Dr. D. S. Kothari will be rendered
as per the Classified Catalogue Code
as :

Codes :

(A) Government of India, Education
Commission Chairman : D. S.
Kothari, 1964

(B) Government of India, Education
Commission 1964, Chairman :

Kothari, D. S.

INDIA, (Government of —),
EDUCATION COMMISSION,
1964 (Chairman : Kothari D. S.)

INDIA, EDUCATION
(Commission) (1964) (Chairman
: D. S. Kothari)

(C)

(D)

44.

45.

APR - 18317/111—B

Teh! Acaeh TEAMH UBfaaial 221 ¥

Heh HASTTER (MAC Address) Faea
T TSR |iEd whIvd 2

(A) =

(B) @=
(C) T3
(D) weH

Government of India 3 1964
Education =1
Chairman T Dr. D. S. Kothari a=it
THUE hedl Bl AT ForerE! g
AfereRTEfedyaT g Mt Shefl s ?
Hehdich :

(A) Government of India, Education

Commission

Commission Chairman : D. S.
Kothari, 1964

(B) Government of India, Education
Commission 1964, Chairman :

Kothari, D. S.

(C) INDIA, (Government of —),
EDUCATION COMMISSION,

1964 (Chairman : Kothari D. S.)

(D) INDIA, EDUCATION
(Commission) (1964) (Chairman

: D. S. Kothari)
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46. First page of a Ph.D. Thesis

47.

1S ceeeeieeieeennnnn .

(A) Acknowledgement page

(B) Title page

(C) Contents page

(D) Index

RRRLF is founded under the

ministry of :

(A) Finance, Govt. of India

(B) Public Health, Govt. of India

(C) Culture, Govt. of India

(D) Social Welfare, Govt. of India

46. TSl YU dfeel I8 TS

47.

APR - 18317/111—B

(A) RS T3

(B) ¥fitih Tt

(C) STIHHAMR Jt3

(D) a9

R AR, 3. TA. Th. IV HACAT

T HAAA A8 ?

A) fo ¥=eE, YR TSR

(B) WESIeh ST HoeTd, W FhN

(C) Wihfdew ™, YR THR

(D) wHIfSes faerTd He, YRd iR
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48. Which is the correct order in

research process ?

(A) Literature Search—Literature
Review—Formulation of
hypothesis—Preparation of a

tool

(B) Formulation of hypothesis—

Preparation of a tool—

Literature Search—Literature

Review

(C) Literature Review—Literature
Search—Formulation of

hypothesis—Preparation of a

tool

(D) Literature Search—Formulation
of hypotheses— Literature

Review—Preparation of a tool

APR - 18317/111—B

AN A

48. YA YfwIdid o= Wi

HIUET HHAR AT TR 378 2

(A) AT AT &1 — ATATAT G AT
ST — Yl = —ared Tom

HL0

(B) gatgAM FAf=rdt—Hed TR Hio—

qraq Gifgcd INE—araq Hifgcar=n

SHTeldl

(C) 9= Tifgcar=n AeE—ar= difecd

(el fa

MY—gagaA FHREd—we TR

H

(D) = Hifgcreig—qaigae e —

ald- leﬁ(“‘ll‘cll ST —HET TR

w0
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49. Match the following and select the

correct answer from the codes given

below :
List 1
(@) INB
(b) World of Learning
(¢) Roget’s Thesaurus
(d) Marathi Saraswat
List II
(z) Alphabetical
(i1) Classified
(zii) By Countries
(iv) By Subject Categories

Codes :

@ ) © @

(A) @) @) Gv) @)
B) @) @) Gv) (@)
©) @ @ @G @)
D) @) G@u) @) @

APR - 18317/111—B

49. Siren Seza 0 Wrett feeien HehdiehiH

T Ty Haer
RICi |

(@) 3T TT

(b) TS ATk AT

(c) ey fudrerd

(d) AUS HRE
et 11

(i) JUHATIER

(if) STRTIER

(iii) <TMIER

(iv) fao@mem

Hehdich :

@ & © @

(A) @) @) Gv) @)
B) ) @) Gv) @)
©) ) O @ @)
D) @) @) @) @
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50. Arrange the following operators of 50. FfEseA SReE HAIR T B
PRECIS in proper order : () TWHRR A% TEifes IRH
(i) Performer of transitive action (i) <HIH
(it) Location (iii) ST
(111) Action (iv) FF o
(v) K t -

iv) Key system :
Codes :

(A) @) (@) @) @)
(A) Gi) (Guv) @ @)
®) G) Go) G 6 B) @) G @) @
© G G G Go) C) @ @ G Go)
D G G  Go)  Gi) D) @ @ G @)

51. Which of the following are web | 51 AR HU ad A AR ?

browsers ? @) "
() Yahoo ..
(@) T
(1) Googl
i oogle i
(zi1) Netscape )
(iv) TR THTGRY
(tv) Internet Explorer
Codes : :
(A) () and (i1) are correct (A) (@) = (i) e
(B) (i) and (iii) are correct (B) (i) SO (i) SR T8
(C) (iii) and (iv) are correct (C) (i) 30T (jv) IS 377
(D) (@) and (iv) are correct (D) () 3 (jv) SR AR
33 [P.T.O.



52. Statement (A) :

Five laws of library science are
normative principles capable of
solving any problem faced by the

librarian.

Statement (B) :

Normative principles determine
norms or standards in day-today

library practice.

Select the correct answer from the

codes given below.

Codes :

(A) (A) is false, but (B) is true

(B) (A) is true, but (B) is false

(C) Both (A) and (B) are false

(D) Both (A) and (B) are true

APR - 18317/111—B

52. faam (A) :

JUIAT hIVTATe] T Qs fuararst gael

3.

fagam@ (B) :

THTVA Aol U= e STmer

AT GH0h  3LdTd.

- -
.
.

(A) (A) T 3T, TG (B) T IR 3T

(B) (A) SRR 377, T (B) ¥ I 318

(C) Tt (A) sufor (B) 9= T

(D) S=T (A) 31 (B) s&R 3118
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53. According to Dr. Ranganathan | 53. Tl UMY <A1 HAWATY FEEam
reference service is a/an .................. . g e,
(A) Personalized service (A) AR Gell
(B) Specialized service (B) fomme e
(C) Technical service (C) wifrer e
(D) Retrospective service (D) tﬁﬁgﬁ EEl
54. Arrange the following ISBDs | 94 Treft oo g, T, §ft. <€ < @
according to their year of hICThHITHR =TT b ¢
formulation : G) @M. T s S (f T
) ISBD (PM
() ISBD (PN (i) @M. T S G (F. TR
(zz1) ISBD (CF)
(iii) 3T9. TE. &1. . (TH)
(zz1) ISBD (M)
(lv) 3T™. wH. &f. 1. (TH)
(tv) ISBD (S)
Wehdiah :
Codes :
(A) @) () @ Gv)
(A) (i) (Gi) @ (o)
®) Gi) @) G D) B Gy @
©) @) @ @) @) © @ O @ @
D) G@v) G Gi) G) D) Gvy @) Gu) @)
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55.

In research on ‘Motivation among
university library professionals’, if
the researcher takes every third
person from each category of staff,
e.g. Junior Library Assistants,
Senior Library  Assistants,

Assistant Librarians etc., the

sample would be :

(A) Random sample

(B) Stratified sample

(C) Convenience sample

(D) Snowball sample

55.

APR - 18317/111—B

‘“faomdie Terdd  SATagTIsRTHENT

gron’ T fovEedd E@ YA S)

TINYRT  HHAATR! HiT3 AT

=T, dais3 [T  HTeraeh,

IWIIA TR T Yo fa9q

FHARl THAN WUE faeen, @

(A) Igf=ssh T

(B) aifafted T

(C) HIEIHR T

(D) H&ied T
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56. Which of the Library Automation

57.

Software is developed by Softlink ?

(A) Koha

(B) E-Granthalaya

(C) Alice

(D) New Genlib

........................... is first to hire staff

with designation of “Reference

Librarian”.

(A) Berwick Sayers

(B) S. R. Ranganathan

(C) Samuel S. Green

(D) Melvil Dewey

APR - 18317/111—B

56. AiFfciehd HIUAT TATTd TITUTSh R0

57.

RO TR Shell 38 2

(A) Il

(B) 3-Uumd

(C) 3STcTr=d

(D) Hfed

..................... .q.i:ﬁ. ,q.q_q t_g.’aq:f .];l’.wt

(A) fger Fer

(B) fo1. @ Trem

(C) =31 wH. WA

(D) Aafaa =5
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58.

59.

Knowledge is an organized body

Of coviiiiiiie, .
(A) Data
(B) Facts
(C) Information
(D) Intelligence

Secondary sources of information

COVET ...oeeernnnenn. .
(1) Abstract

(i1) Thesis

(i11) Text-book

(iv) Patents

Codes :

(A) () and (i1) are correct
(B) (1) and (117) are correct

(C) (iii) and (fv) are correct

(D) (1) and (tv) are correct

59.

APR - 18317/111—B

(D) Fg=rgd
fefaaer Aifedi=an Ao Ereterdent

® GO 39d ?

() ¥R

(i) vaY

(i) SiFH TH

(iv) ¥

Hehdieh :

(A) (i) 3T (i7) SRR 3T

(B) (i) A (i) S A
(C) (iii) M0 (jv) SER e

D) (i) 3T (jv) SR TR
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60. Who is the pioneer of POSDCORB ? | 60. POSDCORB = S hlul ?
(A) Henry Fayol (A) T HAtA
(B) Luther Gulick (B) TR T[eiteh
(C) Charles Babbage (C) =Terd s
(D) Fredrick Taylor (D) Held® <o
61. What was the earlier name of | 61. YRAT=A T TATAAT Jai= e T
National Library of India ? B ?
(A) Calcutta Public Library (A) Herehtl T&iish I
(B) Calcutta National Library (B) wharehtl M TS
(C) Imperial Library (C) TERFA A=
(D) Asian Library, Calcutta (D) URTEA Ao, Shereh
62. Which protocol does Ping use ? 62. HIUA TRIklA 97 arg ?
(A) TCP (A) SLEL.
(B) ARP (B) T.3R.UI.
(C) ICMP (C) . 91.TH.9I.
(D) Boot P D) T .
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63. Arrange the following in proper

64.

sequence with codes given below :

(z) Message

(1) Channel

(z11) Transmitter

(iv) Receiver

Codes :

A) @) @ @ (o)

B & G @ (o)

C) Gv) @) @ (@)

D @ @ @) @)

The other name for HaaS is :

(A) SaaS

(B) IaaS

(C) PaaS

(D) Web 2.0

APR - 18317/111—B

63. WA ®EHhi=l I HAM HISUT

U

G) W

(i) =

(iii) TS

(iv) RfE=T

Hehdich :

(A) @) @) @) (o)

B @ @) @ (o)

C) Gv) @) @) @i1)

D) @ @ @) (o)
64. TALTEE. o TW @ 3™ TR :

(A) TE T T TE

(B) ¥¥. T T TH.

©) # T T T

(D) 39 2.0
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65. Match the following and select the | 65. Sieal Seeal 3TV Vel fSeieal HehdlhRT
correct answer from the codes given aJrg g e
below : awdt 1

List I

* (@) TreEm@
(@) NISSAT 5
(b) sfast®w
(6) DESIDOC
(c) ¥HeSieh
(¢c) NASSDOC
(d) T=heR
(d) NISCAIR
et 11
List 1T
G) S I St 2.
() DRDO
(i) . TH. 3. 3R
(zz) DSIR
(iii) CSIR () I TH
(iv) ICSSR (iv) . . TH. T SR
Codes Tekdioh :

@ B (© @ (@ b)) © @@
A) Gi)) G) @) Go) (A) Gii) G) @) (o)
B) Gi) @ G Gv) B) Gu)y @ G (o)
C) vy O @) @) C) Gv)y @ (@) (@)
D) G @ Qv @) D) @ @ (v GG
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66.

67.

The term ‘Bibliophile’ refers to :

(A) A bibliographer

(B) A book lover

(C) A publisher

(D) A book binder

Which of the following are linear

models of communication ?
(1) Helical model

(iz) Lasswell model

(211) Shannon and Weaver model
(tv) Becker’s Mosaic model
Codes :

(A) (i) and (ii1) are correct

(B) (ii1) and (iv) are correct

(C) (11) and (iit) are correct

(D) () and (fv) are correct

66.

67.

APR - 18317/I1I—B
H 2
(A) TIgEhR
(B) UgsH
(C) UHTITH

(D) TSR

TR TS vl Hied fafqer
a2

(@) Bfcthe AiSd

(i) Eed Hied

Gii) T emfor faar AreE

(jv) S TR HEA

Hahdieh :

(A) (i) S (33i) L 3

(B) (iii) S0 (jv) SR 3R

(C) (i) MU (iii) S=R 3RA

(D) (3) T (jv) SR 3T
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68.

69.

Which of the following associations

has not changed its name ?

(A) IFLA

(B) ASLIB

(C) ALA

(D) Library Association (UK)

Arrange the following according to

their year of origin :
(z) Indian National Bibliography
(z1) British National Bibliography

(i11) Cumulative Books Index

(iv) Books in Print

Codes :

@A @ @ @ @
B) @ @ @) Gv)
©) Gv) i) GG 6
D) G Gv) @@ G

68.

69.

APR - 18317/111—B

WATCIUh ! IV T < 19 Seetel
& ?

(A) A

(B) 3fedlsl

(C) oY

(D) TEEd STEfaTEE ()

e ¢

o N

‘.i:Ir\S?'I"I e fefeatsims

@)

~

(i) Tafewr TyHa fafsaetumest

(iii) TR T TS

(v) I 31 T4

Hehdiah :

A @) @) Gv) (@)
B) Gi) @ Gi) Gv)
©) Gv) Gi) G) 6
D) @) G G 6
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70.

71.

SCOPUS is ..cccvvuveeennnnn .

(A) Abstract and citation database
(B) Fulltext database

(C) Numerical database

(D) Image database

Match the following and select the

correct answer from the codes given

below :

List I
RRRLF
NISCAIR

Khuda Baksh Oriental Public
Library

(@)
b)
(c)

(d) Saraswati Mahal Library
List II

@)
(i1)

Thanjavur
Patna
(i27) Delhi
(iv) Kolkata
Codes :
(a)
(A) (v)
(B) (1)
©) ©
(D) @)

(b)
(u11)
(iv)
(u11)
(@)

(c)

(i1)
(111)
(i)
@)

(d)
@)
@)
@)
@)

71.

APR - 18317/111—B

(A) TR T STt Se™ (Haae
3fg TERYH TIE9)

(B) YUl Hifgel ST (HEACRE S2To )

(C) &Y STad (FAREHA SeH)

(D) 3=l S2eE (SHS S2ed)

Tl Fehdihlqd AT Hehdich IS
e S[esdl :
EICU|
(@) SN.AR.AR.TA.TH.
(b) freheR

() TEEE Eed Usiih e

(d) T 7 e
et 11

(i) TSR

(@) 9T

(zit) feeedt

(iv) hICTehTdl

Hehdich :
(a)

(A) Gv)

B) @)

©) @

D) @)

()

(@)
(it1)
(@)
@)

(d)
@)
@)
(iv)
(iv)

(b)
(iit)
(iv)
(iit)
(i1)
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72.

Intellectual Property Rights refer
to v .

(z) Right to Information

(iz) Patent

Codes :

(A) Both (i) and (ii) are true
(B) Both (i) and (ii) are false

(C) (@) is false but (i7) is true

(D) () is true but (i) is false

72.

APR - 18317/111—B
SIS YISl s heme! Fafed
;e ?

(i) TS T THATH

(i) T2

Hehdieh :

(A) TG (i) 3o (i) SRR 3Ted
(B) JEI (i) 0T (i) I TR
(C) () FHT 3T&, T (i1) T S 378

(D) (i) IR &, W (ii) & Fhid 3T

73. According to ISBD format the GMD 73. R TH. . &Y. wIEETET S ™
is recorded ? .
. = Alg S FOIE A4 ?
(A) After the statement of
(A) Ve e fofgeifaet @
responsibility
: (B) TAMMMR
(B) After the title proper
(C) After the subtitle (C) STITHITR
(D) After the series statement (D) WAL
45 [P.T.O.



74. Which of the following facilitate

75.

informal communication on the

web ?

(z) Split screen

(i1) Chat

(z22) Wikis

(iv) RSS Feeds

Codes :

(A) (), (zi1) are correct

(B) (), (i) are correct

(C) (@), (fv) are correct

(D) (i), (iv) are correct

EDI refers to ..ccccuueeneen..... .

(A) Essential Data Interchange

(B) Electronic Data Interchange

(C) Economic Data Interpretation

(D) Educational Data Interchange
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